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QUESTION 1

Refer to the graphic. 

A host has established a telnet connection with the router attached to interface G0/0/0. Which of the following
statements are correct? (Choose two) 

A. The destination address of a frame sent by the host will be the MAC address of the router interface. 

B. The destination address of a frame will be the MAC address of the switch interface. 

C. The destination port number in a segment header will have a value of 80. 

D. The destination IP address of a packet will be the IP address of the network interface of the router. 

Correct Answer: AD 

 

QUESTION 2

Refer to the graphic. The data is transmitted using IPsec tunnel mode. The fields of which headers will be
authenticated? 

A. TCP and Data 

B. Origin IP, TCP and Data 

C. AH, Origin IP, TCP and Data 

D. The fields of all headers 
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Correct Answer: C 

 

QUESTION 3

The administrator wishes to change name of the router. Under which view should the administrator be in order to
achieve this? 

A. User-view 

B. System-view 

C. Interface-view 

D. Protocol-view 

Correct Answer: B 

 

QUESTION 4

An administrator discovered he/she was unable to use TFTP to transfer files to the router. Which of the following
describes the likely reason for this? 

A. The TFTP service had been disabled on the router. 

B. TCP port 69 of the server had been blocked. 

C. UDP port 69 of the server had been blocked. 

D. The username and password had been modified. 

Correct Answer: C 

 

QUESTION 5

Which of the following statements about gratuitous ARP packets are true? (Choose two) 

A. A system can determine whether conflicting IP addresses are used by sending a gratuitous ARP packet 

B. A gratuitous ARP packet uses the same format as an ARP request packet. 

C. A gratuitous ARP packet can help to update an IP address. 

D. A gratuitous ARP packet uses the same format as an ARP reply packet. 

Correct Answer: AB 
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